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Big Exam #1, Physics 141 Schwartz, W2016, Name //%

1) My mass is 70 kg, and the mass of my bike is X A
10 kg. I’'m riding my bike at a constant speed of
10 m/s. However, at exactly t = 1s, my

displacement is -5 m and I see a car and I apply

a constant force, and slow to a stop over a _ 5”' [
period of two seconds. Please graph my
acceleration, velocity, and displacementasa -/9m i

function of time. Label the axes correctly.
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2) In the last problem, please find
a) The force exerted by my breaks
b) The work done by my breaks and the average power.
c) Was energy conserved in this process? How?
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